DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

DIVISION WITH 5 Name:
Time: Score: A

3 —488.75 + 5 = ) —=5020 =5 =
32) —1912 =5 = 1 —475.4 +5 =
33 —4980(0) — 5 = 1) —128.9 =5 =
39 —5810 =5 = 19) —2015 =+ 5 =
) —2399.5 =5 = 0 —26965 + 5 =
56) —14415 =5 = 51 —4518.5 =5 =
3 —=361.00 =5 = 2 1185 +5=
38) —9880 = 5 = 53 —32695 -5 =
30) —3445 = 5 = ) 2360 +0 =
10) —343.45 +5 = w =377 +5=
) —9T76 =5 = 56) —16625 =5 =
2) —100 =5 = ) —4715.5 =5 =
13) —1739.5 =5 = %) —239.30 =5 =
) —188.15 =5 = 9 —416.0+5 =
1) —14000 = 5 = 60) —47805 + 5 =

Mathematics: Division - Level 6 - Horizontal - Set 4
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